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Find the correct option of given following question’s answer and dark the circle (@) in OMR

sheet’s appropriate given options A, B, C or D.

.

10.

1T

What would be the estimate value of 3936 nearest to thousand ?

(A) 4036 (B) 3900 (C) 4040 (D) 4000
In what form can 8 be shown by dots ?
(A) Triangle (B) Square (C) Rectangle (D) Circle
What is the LCM of 19 and 11 ?
(A) 19 (B) 209 ©) &= (D) 11
How many diagonals are there of the Quadrilateral ?
(A) Two (B) One (C).. Zero (D) Four
Which is the reflex angle from the following ?
(A) 110° (B) 180° @ 290° (D) 150°
(=20) (—=14), which sign is placed in the blank ?
(A) > (B) < (C) = (D) None of these
Ny - 3 2 6

What would be the simplification'of 77+ 77+ 777

60 23 17
(A) 17 (B) 11 © 1 (D) |
What 1s the value of 4 n 97421 ?

4 4 4
(2) 10 (B) Too © To00 () =00
The perimeter of the rectangle 1s 50 cm. If the breadth of rectangle 1s 10 cm, then what would
be 1ts length ?
(A 15 cm (B) 30cm (C) 20cm (D) 10cm

How many notebooks will Ganpat get 1f 30 notebooks will be distributed between Himanshu
and Ganpat in ratioof 2 : 3 7

(A) 12 (B) 18 (C) 10 (D) 20
What 1s the simplification of (-57) x (—19) + 57 ?
(A) —1900 (B) — 1280 (C) 1257 (D) 1140
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How many pieces of 13.2 cm are made from 330 cm long wire ?

(A) 21 (B) 28 (C) 25 (D) 35
What would be the Mode of the data 22, 29, 27, 23,43,41,27 7
(A) 23 (B) 27 (C) 43 (D) 22
If k + 7= 16, then what 1s the value of 8k — 72 ?
(A) O (B) 1 (C) 112 (D) 56
Which angle value 1s four times of its supplementary angle ?
(A) 36° (B) 16° (C) 144° (D) 64°
What 1s the value of perimeter of rectangle whose length 1s 40 cm and diagonal 1541 ¢m ?
(A) 42cm (B) 49cm (C) 89 cm (D)~ 98.cm
Which 1s not the condition of congruence from the following ?
(A) SSS (B) AAA (C) SAS (D), ASA
Which amount’s simple interest is ¥ 126 as per rate 14% of 2 years time. ?
(A) 394 (B) 395 (C) T 540 (D) 450
. . 4 50

What value will get after subtracting 65 from 3 7

I I 31 39
(A) 3 (B) 2 (O (D) 5

(4 x (-2)° x (-1)** =2
(A) 1 (B) 64 (€) 256 (D) O

Which is the reciprocal number of opposite of 3.2 ?
32 —32 —10 10
A 10 @ (55) © (3) D) 32

The sum of the present age of mother and daughter 1s 60 years. What will be the sum of
both’s age afterx years ?

(A) x+30 (B x+ 60 (C) 2x+30 (D) 2x+60
What 1s.circle ?
(A) Opencurve (B) Closed curve (C) Convex curve (D) Concave curve

What is the probability of getting 51 marks out of 50 marks question paper ?
(A) 0 (B) 1 (C) 50 (D) 51

L2+ 113=(_2_ )
(A), 225 (B) 15 (C) 25 (D) 115

The number’s ones place digit 1s 7, what is the probability of getting number’s ones place
digit after cubed 1t ?
(A) 4 (B) 9 (€ 3 (D) 7
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Bhavesh’s salary was ¥ 8.000 which was increased to I 10,000, then how much was the
increment of his salary ?
(A) 10% (B) 20% (C) 40% (D) 25%

If p = (-2), then what is the value of 2p° — p* ?
(A) 20 (B) 20 (C) 16 (D) 8

What 1s the shape of pencil without sharpening ?
(A) Cube (B) Cuboid (C) Sphere (D) Prism

The base diameter of cylinder 1s 14 cm and its height is 10 cm, then what 1s the area of
cylindrical curved surface ?

(A) 440 cm’ (B) 220 cm? (C) 880 cm? (D)4 280 cm”

What 1s the method of representing number on the number line by magnifying the portion
with magnifying glass known as ?

(A) Rational method (B) Sequential ‘process

(C) Process of successive magnification (D) Process of rational indication
Dividend = _?

(A) (Divisor — quotient) + remainder (B) / (D1visor x quotient) + remainder
(C) (Divisor/quotient) + remainder (D)" (Divisor + quotient) + remainder

What 1s called the distance from the point in proper direction upto y-axis ?

(A) Vertex (B) Arm (C)' vy-coordinate (D) None of these
Which 1s/are the two variables equation/s from the following ?

(A) 12s+3t=5  (B) phtdg=1 (C) \2x-7y=3 (D) Allofthese
Whom had been defined by Euclid ?

(A) Point and Line (B) Point, Line and Plane

(C) Line and Plane (D) Point and Plane

“In a correspondence between two right angle triangle, if one side and the hypotenuse of one
triangle are congruent to the corresponding side and hypotenuse of the other triangle, then

the correspondence 1s congruence and the triangle are congruent.” — which congruence
condition 1§ this statement stated ?
(A)_ SSS (B) SAS (C) RHS (D) AAS

Which shape is not Quadrilateral from the following ?
(A) Square (B) Rectangle (C) Kite (D) All of these

If one ray is on the line then what will be the sum of these two ones adjacent angles ?
(A) 360° (B) 180° (C) 90° (D) 45°
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Which formation 1s made by the set of points lying in a plane at a fixed positive distance

from a fixed point in a plane ?
(A) Circle (B) Line (C) Square (D) Rectangle

Which i1s the formula of surface area of a cuboid ?
(A) (Ib+bh+hl)/2 (B) (Ib+ bh+hl) (C) (Ib—bh-hl) (D) 2(Ib+ bh +hl)

After how many digits will the decimal expansion of 2517/6250 be terminated ?

(A) 4 (B) 5 (C) 3 (D) 6
Which type of form the graph of p(x) = 3x + 5, xeR represents ?

(A) A straight line (B) Aray

(C) Parabola open upward (D) Parabola open downwards

In a two digit number, the digit at tens place is 7 and the sum of the digits 1s 8 times the digit
at unit place then what 1s this number ?
(A) 78 (B) 70 (C) 71 (D), 17

What is the sum of the probabilities of all the elementary eyents of an experiment ?
(A) O (B) 05 () 1 (D) 15

IfT,=8,T,=24thenT,,=_2
(A) -4 (B) 28 L) O (D) 36

If M =26, x= 36 then what will be the value of Z ?
(A) 6 (B) 5 (G4 (D) 3

A 3 m long ladder leans onthe wall such that its lower end remains 1.5 m away from the
base of the wall, then how mu¢h angle of measure would the ladder make with the ground ?
(A) 20° (B) 30° (C) 45° (D) 60°

If 7 cos? + 3 sin”® =4, then what will be the value of cot 0 ?

|
(A) 3 ®), 7 [ 7 (D) 7/3

InA ABC, AB=3,BC =4 and AC =3, then what is the value of radius of the circle touching
all the three sides™?

(A) 2 (B) 1 (C) 4 (D) 3
4 3 . .

The volume of sphere 1s 3T em’, then what 1s its diameter in cm ?

(A) 0.5 (B) 1 () 2 (D) 25
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